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Instruction : All questions carries equal marks.

1. How to add a background color in HTML ? 1

(a) <marquee bg color : ‘‘red’’> (b) <marquee bg - color : ‘‘red’’>

(c) <marquee bgcolor = ‘‘red’’> (d) <marquee color = ‘‘red’’>

2. Which of the following tag is used to make the underlined text ? 1

(a) <i> (b) <ul> (c) <u> (d) <pre>

3. How to create a check box in HTML ? 1

(a) <input type = ‘‘check box’’> (b) <input type = ‘‘button’’>

(c) <check box> (d) <input type = ‘‘check’’>

4. Which of the following tag is used to define options in a drop down selection list ? 1

(a) <select> (b) <list> (c) <dropdown> (d) <option>

5. HTML tags are enclosed in : 1

(a) # and # (b) { and } (c) ! and ? (d) < and >

6. The <hr> tag in HTML is used for : 1

(a) new line (b) vertical ruler (c) new paragraph (d) horizontal ruler

7. How to insert a background image in HTML ? 1

(a) <body background = ‘‘img.png’’>

(b) <img background = ‘‘img.png’’>

(c) <bg - image = ‘‘img.png’’>

(d) None of the above
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8. What are the types of unordered or bullated list in HTML ? 1

(a) disc, square, triangle (b) polygon, triangle, circle

(c) disc, circle, square (d) All of the above

9. Which of the following is the correct way to start an ordered list with the count of numeric
value 4 ?

(a) <ol type = ‘‘1’’ intial = ‘‘4’’> (b) <ol type = ‘‘1’’ begin = ‘‘4’’>

(c) <ol type = ‘‘1’’ num = ‘‘4’’> (d) <ol type = ‘‘1’’ start = ‘‘4’’>

10. A program in HTML can be rendered and read by : 1

(a) Web browser (b) Server (c) Interpreter (d) None of the above

11. In HTML 5 which of the following tag is used to initailize the document type ? 1

(a) <Doctype HTML> (b) <\Doctype html>

(c) <Doctype> (d) <!Doctype HTML>

12. Which type of Java script language is ? 1

(a) Object – Oriented (b) Object – Based

(c) Assembly – Language (d) High – Level

13. Which of the following is the correct output of the following JavaScript code ? 1

var x = 5, y = 1

var obj = {x : 10}

with (obj)

{

alert(y)

}

(a) 1 (b) Error (c) 10 (d) 5

14. Which one of the following is the correct way of calling the JavaScript code ? 1

(a) Pre processor (b) Triggering Event

(c) RMI (d) Function/Method

15. In the JavaScript, which one of the following is not considered as error ? 1

(a) Syntax error (b) Missing of Semicolons

(c) Division by Zero (d) Missing of Bracket
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16. Which one of the following is an ternary operator ? 1

(a) ? (b) ! (c) – (d) +

17. Which one of the following is correct output for the following given JavaScript code ? 1

<P id = ‘‘demo’’> </P>

<script>

function Function1()

{

document. get Element By Id (‘‘demo’’).

innerHTML = Math. cbrt (792) :

}

</script>

(a) 972 (b) 81 (c) 9 (d) Error

18. The CSS property used to control the element’s font size is : 1

(a) text – style (b) text – size (c) font – size (d) None of the above

19. Which of the following is the correct syntax to make the background-color of all paragraph
elements to yellow ?

(a) p {background - color : yellow;} (b) p {background - color : #yellow;}

(c) all {background - color : yellow;} (d) all p {background - color # yellow;}

20. Which of the following is the correct syntax to display the hyperlinks without any underline ?

(a) a {text-decoration : underline;} (b) a {decoration : no-underline}

(c) a {text-decoration : none} (d) None of the above

21. Which of the following property issued as the shorthand property for the padding properties ?

(a) Padding-Left (b) Padding-Right (c) Padding (d) None of the above

22. The CSS property used to make the text bold is : 1

(a) font-weight : bold (b) weight : bold

(c) font : bold (d) style : bold

23. The CSS property used to specify the transparency of an element is : 1

(a) opacity (b) filter (c) visibility (d) overlay

1
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24. Which of the following is used to specify the subscript of text using CSS ? 1

(a) vertical – align : sub (b) vertical – align : super

(c) vertical - align : subscript (d) None of the above

25. The CSS property used to specify whether the text is written in the horizontal or vertical
direction ?

(a) writing – mode (b) text – indent

(c) word - break (d) None of the above

26. Which of the following syntax is correct in CSS to make each word of a sentence start with a
capital letter ?

(a) text - style : capital ; (b) transform : capitalize ;

(c) text - transform : capital ; (d) text – transform : capitalize ;

27. The CSS property used to draw a line around the elements outside the border : 1

(a) border (b) outline (c) padding (d) line

28. Which of the following CSS property is used to add shadows to the text ? 1

(a) text – shadow (b) text – stroke

(c) text – overflow (d) text – decoration

29. Which of the following CSS property specifies the origin of the background - image ? 1

(a) background – origin (b) background – attachment

(c) background – size (d) None of the above

30. Which of the following CSS property is used to specify the type of quotation mark ? 1

(a) quotes property (b) z-index property

(c) hyphens property (d) None of the above
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